Luzerner Berufs- und Fachmittelschulen

|Arithmetik / Algebra Zeit: 120 Minuten
Lésungen
Nummer Ergebnis
1 x=-44
' 5
2. la) 1) (4c-7d)* =16¢* —56¢d + 494>
9 15 3 :
2) —x*——xy+25y* =| Zx-5
36X T (4 yj
26r%s?
by 1) —
> 6v?
2) 1&9.
15v
3. a) 1) a=-1 2) b=0 3) c=1
b) 59.91
4, x=3
5. ja) 1) 4%a*.b%.b* . 2) 2*a-(ab)’-(bc)’ -c*
3) 2-(abc)’-2°-b*-c®>  4) 16(ac)’-(bc) -b?
b) a4 b3 c-2  d-1
6. 175 %
7. 8748 t
8. Fr. 250.-
9. 18 10-€-Scheine und 24 10-$-Noten
10. 134,73 km/h

BMS_FMSWAP 2006_Prifung 1 03.01.2006

1 von1




